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Part ~ Vi Answer any FIVE questions, : £x2+=1%

18,
19.

20,

21,
22,

23,

24,

25,

Expandd {3m +5) -
:._'Factorisc: 2 +8x415,

r

Solve: 2x45=9

The suim of two numbers i% 36 and one number exoved another by %, Find S misirrs.

The length of a rectangle i ‘;- of its breadth, If its perimeter is 64 m, Gtn fidi tue langlio sl
breadth of the rectangle. (

If a company pay Z 6 lakh for 15 workers for 20 dz?z, bow msch would # ned v;.éf/ for &
workers for 12 days?

A and B together can do 4 piece of work in 16 days and A slone can 6o 18 in 4% days, How g
will B take to complete the work?.

A is thricc as fast as B, If B can do a piece of work in 24 days, !brm find the nurdbner of days tiey
w:ll take to complete the work together.

Part VI: Answer any THREE questions, 33x5~15

26.
27.
28..
- digits are interchanged. Find the original number,
29.

’

30.

K] P

Find the value of the following using identities () 94"  (iiy 103
Factorise: x° +15x% 4 75x+125 |
A number consists of two digits whose sum js 9. 127 is subtracted from the origingd nurber, its

If 48 men working 7 hours a day can do a work in 24 days, then in how rrmry dfrys wilk 24 roem S
- working 8 hours a day can complete lhe pame work?

A and B can do a piece of work in J2 ddjﬂ, while B and C can do it in 15 d'«r/z wherezs A zm C
can do it in 20 days, How Jong would cach take to do the same work?

l'art ~ VIIi Answer any ONE question, . 1xB=%

(A). Construct a parallclogram ARTS with AR =6cm, BT =5 cm and Lm =70", Also find its

area.
OR

(B). Construct a rhombus NEST with NS =9 cm and ET = cm, Abo find its area,
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SECOND MIDTERM TEST - NOVEMBER 2022

X - Std Mathematics

Time: 1.30 Hrs, A Maximum Marks - 50
PART - I (Marks - 7)

Note: Answer ALL questlons: - : , Tx1=7

L If Aisa 2x3 matrixand B isa 3 x4malrix,'how many columns does 4B have
(A)3 By4 (©)2 (D)5

4 -2
2. If A= 2
(6 _3), then A

(16 4 8 -4 (-4 2) 4 -2
(A) (36 o) ®) (-12 —6)' (© (-6 '3) ®) (6 '—3]

3. Infigure if PR is tangent to the circle at P and O is the centre of the circle, then
ZPOQ is .
(A) 120° (B) 100° " (C) 110° . (D) 90°
4. A vertical stick 12 m long casts a shadow 8m long on the ground and a same
time a tower casts a shadow 40 m long on the ground, then the height of the

dower is -
(A) 41.92m (B) 43.92m (C) 43m (D) 45.6m

5 If the ratio of the height of a tower and the ]cngth of its shadow is +/3 : 1, then the angle of elevatxon
of the sun has measure

(A) 45° (B) 30° ©) 90° (D) 60°
6. The base arca and height of the hcmlsphcre and the cone are equal. 'I“nen the ratio of its curved
surface area is , V) A
(A) 1:2 ®) 2:1 - ‘(C)l:«ﬁ | (D) V2:1
7. The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will be
(A) 12¢cm (B) 10em (C) 13em (C) 5cm

PART - 11 (Marks - 10)

Note: Answer any FIVE questions, Question Number 14 is compulsory: - 5x2=10
R i ’ | Ry
b I As| T 07 2 then, ind (4)
g 3 1,

o (ew?o 0 sinf0 0 ) e %
9 If Aﬂ(um 20] and Ilm( nO in'g then, show that A+ B =1,
cos - e | " 10 - Maths Page - 1

L S . )

Kindly send me your district question papers to our whatsapp number: 73589@Cam80anner


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

10. State Ceva’s theorem. :

15. From the top of a building 12 m high, the angle of depression of a car on the ground is observed to
be 30°. Find the distance of the car from the building.

12. A kite is flying at a height of 75 m above the ground. The string attached to the kite is temporarily
tied to a point on the ground. The inclination of the string with the ground is G0° . Find the length of

 the string, assuming that there is no slack in the string.

13. A garden roller whose lengthi is 3 m long and whose diameter.is 2.8 m is rolled to level a gardcn

How much area will it cover in 8 revolutions? ‘

14. If the ratio of radii of two spheres is 4 : 7, find the ratio of their volumes.

PART ~ III (Marks - 25)
Note: Answer any FIVE questions. Question Number. 21 is compulsory: - 5x5=25

1 1 1.2 -7 6
15. If A= ; B= i - i
| [—-I 3) [_4 2) and C= ( " 2) verify that A(B+C)=AB+ AC

16. Sate and prove Pythagoras thcorem

* 17. From the top of a tree ofheigi;t 13 m'the angle of elevation and depression of the top and bottom of
another tree are 45° and 30° respectively. Find the height of the second tree. («ﬁ = 1.732)

*17. From the top of a lighthouse, the angle of depression of two ships on the opposite sides of it are
observed to be 30° and 60°. If the height of the lighthouse is 4 meters and the line joining the ships

pésscs through the foot of the lighthouse, show that the distance between the shipé is % !

18. If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm, find the
volume of the frustum.

19. A solid consisting of a right circular cone of height 12 cm and radius 6 cm standing
on 2 hemisphere of radius 6 cm is placed upright in a right circular cylinder full of
water such that it touches the bottom. Find the volume of the water displaced out of
the cylinder, if the radius of the cylinder is 6 cm and height is 18 em.

: y, SO | , 3
20. lfA=(_] 2JthenshowthatA2-5A+712=0

|  PART-1V (Marks-8)
Note: Answer any one question: - - 1x8=8 ‘
21, (A). Draw a circle of diameter 6 cm from a point P, which is 8 cm away from its centre. Draw the

two tangents PA and PB to the circle and measure their lengths
OR

: hof y=x"~4x+3 and use i ‘
(B) Drawthcgrap ofy xz, 4x+3 andl;gelttosolvcxz 6x+9=0 10 - Maths Page - 2
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